wﬁ:u+

der - der +

der+ dyg- degr +
(d-dz+d-d+dz-1)dy_

A+
(d-pder +
Ad-1) dzr +
Ld-1) (d-p)dy_
Ay +d-pder + (d-p dgr + (d-Ddy_

P dep+ bduvue+ bdiogsuz+ bdupul +0=

b.d Cl=p+ b.d €lxgt bd lz|«z+ bd 1«1+ bd 10| «0=

0 v I ¢ ¢ T

14 14 14 14 14
13 st ( °d ) q =d pun y =x e
sxsd +vxvd + exed + oxed + xId = (¥) g
S9MIMSSUNIIRMIH SIP UONIULI(] JOp Yoru I3 uue( ‘4 ‘¢ ‘7 ‘1 ‘0 = pun { = U udmes
STMag
dy = (x)d

1 X UOA 1ToMSSunIemIg uap Inj
18 uue d JIONYOIUISYISIYEMSI[0JI JOP PUN $=U UIWEILJ USP JIW I[IJIA]P1uLOUIq “'P YIoMA-(Y d 4 )g 19 X d[qeLIeAS[[eJnZ 91 :Uog



AUOUV N”._uu
AP+

der- der+

der+ dyg- der+
(,dyp- dzr+ dgr - dy.



